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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot Sensor and FgRec Data
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Plot [['setVlI ETcl’, 'setVI fgRec', ’'setVI VN ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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14:25 26 10.0 i FnHR@14:25 (REEREE)
15:20 26 10.0 i FiHRe15:20 (KRFEREE)
2it]312.0 (12)%) 120.0 3 HKEC: 2500, PH: 6.1

E&PH (7.26) R
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Warning: lcol ['WC', [WC2' ] missing

TargetEC=2000. 0, TargetSetEC=2500

Warning: lcol ['ECB’, 'ECC’'] missing
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Warning: lcol ['PHB',| "PHC'] missing
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